1x<

82

7 07 ( ) .doc
Imm Im
2.85cm
microwave Imm Im
10 106
1)
10* 10° 10°° 107 10°° 10°° 107
(m) | L1 L1 1 L1 1 |
| 1 1 T 1 | I |
10° 108 10%° 10%2 10* 10%¢ 10'®
HI ] | I I I I L1 L1
vV U S E X
H H H H
F F F F
<+“—»
2.85cm
30x<
83 84 85
)




7 07 ( ) .doc

MAE)
= BE7—L(1)
o

RAINEEES

I4INEBES

=W EAHE(2)

EIFEEENRC)

BEEMR2)

AV wRRA—H (K0 Z kR AN (1)

radar



7 07 ( ) .doc

8
2
w
v = Asin(at —kx + o) + Asin(at + kx + ,)
_ (1
= 2Asin(a)t+M)cos(kx+u) .
2 2
o, — O
kX + 22 L-mzr (M=0+L%2,--) -2A<Y <2A -(2)
kx+a220!1 :(m_'_%jﬂ (m=0+1+2,--) ¥Y=0 ..(3)
(2)
2
3
0
X
2 Acos(kx + 22— %)
( 3
2
1)
2
ME-9319
2)
4



(1)

(@)

7 07 ( ) .doc
1 2cm
1 2cm
10
1
54.3 52.8 51.5 50.1 48.5 47.0 45.5 44.4 42.8 41.5
A 1.5 1.3 1.4 1.6 1.5 1.5 1.1 1.6 1.3
3.0 2.6 2.8 3.2 3.0 3.0 2.2 3.2 2.6
A
cm
A 2 2 X1
A 2 3 X2
A 4 X3 Z:z/?,:xlo xl><2
............ n 9
A 9 X8
A 10 Xo
2




7 07 ( ) .doc

2
cm
1 2 3 5
X 53.0 55.6 55.3 53.8 55.5
1
X 38.6 39.7 43.9 38.2 42.7
2
Ax = |x, X, 144 15.9 114 15.6 12.8
n 10 11 8 11 9
AX 2.88 2.89 2.85 2.84 2.84
A= TX 2
2 A
3 3.0<10 m/s
v
v=Av V=—
A
3.0x10°®
v=—""-—=105x10" Hz
2.86 x10
1.0525>=<1010Hz
( 9
1 ( ) 6
(S]
( 6) e 0
e 9%~ 0



7 07 ( ) .doc

@)
(1) 1
1) 2 (2)
)

A
7
50
A Ao A
A 0=
B 1
0= (
)
50
A A A
A 0=
B
90<
45<=

1)



.doc

[
A A
A A
0= 211 1.00 95< 3.10><103 0.01
5= 2.09 0.99 100= 1.50>=<10-3 0.01
10< 2.02 0.96 105= 3.00><103 0.01
15<= 1.87 0.89 110< 1.20>=<102 0.01
20< 1.69 0.80 115< 3.05><102 0.01
25< 1.44 0.68 120<= 6.80><102 0.03
30< 1.17 0.55 125= 1.35x<101 0.06
35< 9.40><101 0.45 130= 2.46><101 0.12
40<= 6.21><101 0.29 135<= 3.96><101 0.19
45<= 4.30><101 0.20 140<= 6.03><101 0.29
50< 2.53><101 0.12 145<= 8.62><101 041
55< 1.39<101 0.07 150= 1.11 0.53
60= 7.20><102 0.03 155< 1.38 0.65
65< 3.32>< 102 0.02 160= 1.63 0.77
70= 1.13>=<10-2 0.01 165< 1.83 0.87
75< 3.20><103 0.02 170= 1.98 0.94
80< 1.00=<10-3 0.00 175<= 2.06 0.98
85< 3.30><103 0.02 180< 2.10 1.00
90< 3.60><103 0.02
[ ( )
A A
A A
0=( ) 6.41 1.00 50= 3.92><101 0.06
5< 5.42 0.85 55<= 5.60><102 0.01
10<= 4.37 0.68 60= 2.30><102 0.00
15<= 4.22 0.66 65< 1.14>=<102 0.00
20< 3.32 0.52 70< 1.5x<103 0.00
25< 2.72 0.42 75< 0.0 0.00
30< 1.58 0.25 80< 0.0 0.00
35< 5.91><101 0.09 85< 0.0 0.00
40< 3.98><101 0.06 90<= 0.0 0.00
45< 7.49><10-1 0.12
[




7 07 ( ) .doc

[MA]
0.0 0=
< 4.4 100A
0.0
)
[ ]
3 Al A, (
A E
A= A, coséd cosd
| E 2 | E
A |
A A cos © cos ©

1.00
0.90
< 080
N
< 070
0.60
050
040
030
0.20
0.10
OOO L1 e
00 0 000 000 0000000 0 0 0
O O O O O O O O O O O OO O o o o o o
—A N M <t IO O™~ 0 OO 0O 1 N M) < IO © I~ 00
1 e A A A A A A A
—&—deta —@—CO0S e
—4A&—CO0S2
[ — 1
10
[ — 1]
0= 90°
45<



.doc

>

0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90

1.00
S 0.80
0.60
0.40
0.20
0.00
10
8
1807 (T.Young)
2
1 2
11
2
sin©
sSin© A
PN
w
(1)
()

(

)

(S]

S w

)
)



7 07 ( ) .doc
)
12
2
1.5cm
12
A
6
() () 50
50
1)
6 7 V)
AIA AIA A/A

0.0< 0.33 1.00 22.5< 0.16 0.49 45.0< 0.05 0.16
2.5< 0.28 0.85 25.0° 0.18 0.53 47.5< 0.07 021
5.0° 0.17 0.52 27.5< 0.11 0.34 50.0= 0.07 0.20
7.5< 0.06 0.18 30.0= 0.06 0.19 52.5= 0.06 0.18
10.0< 0.01 0.03 32.5< 0.01 0.04 55.0= 0.05 0.14
12.5< 0.00 0.01 35.0° 0.00 0.00 57.5= 0.03 0.09
15.0< 0.03 0.08 37.5< 0.00 0.00 60.0<= 0.02 0.05
17.5< 0.15 0.45 40.0< 0.01 0.03
20.0<= 0.19 0.56 42.5< 0.03 0.10

10




7 07 ( ) .doc
A/A A/A A/A
0.0<= 0.065 1.00 225< 0.017 0.26 45.0< 0.000 0.00
25< 0.061 0.94 25.0< 0.004 0.06 47.5< 0.003 0.05
5.0< 0.032 0.50 275< 0.002 0.03 50.0< 0.008 0.12
75 0.022 0.34 30.0< 0.016 0.25 525< 0.013 0.20
10.0<= 0.014 0.22 325< 0.031 0.48 55.0< 0.016 0.25
12.5< 0.043 0.66 35.0< 0.055 0.85 575< 0.020 0.31
15.0< 0.053 0.81 375< 0.035 0.54 60.0< 0.019 0.29
17.5< 0.061 0.94 40.0<= 0.017 0.26
20.0< 0.039 0.60 42.5< 0.007 0.11
2
() 13 () 14
1.00
*
< 080 r
<
0.60 |- ..
<
<
040
L
L L
0.20 . . B ‘.,
< L 2
0.00 ®e L% e e ¢
0O 5 10 15 20 25 30 35 40 45 50 55 60
(S)
13 [ ]
1.00
*
< *
< 0.80
*
0.60 .
. *
*
0.40 "
* o
* *
0.20 . o
* *
*
0.00 L e e
0 5 10 15 20 25 30 35 40 45 50 55 60
<)
14 [ ]

11




7 07 ( ) .doc

13 14
« )
0= 22< 48<
13< 38<
0= 17< 36
10< 28< 46°
2 dsin© A
dsin©®= 1 2 A
2.85cm
. 2.85 . 1 2.85
sin @ = m x 5|nt9:(m+5)><
m=0,1,2,-)
9 1.5cm
7.5cm 10.5cm
« )
d 7.5cm
0.0=(m=0) 22.3=(m=1) 49.5=(m=2)
11.0=(m=0) 34.8<(m=1)
d 10.5cm
0.0=°(m=0) 15.7=(m=1) 32.9°(m=2)
7.8<(m=0) 24.0°=(m=1) 42.7<=(m=2)
A.A.Michelson
(1881 )
(Michelson—Morley)
15 S
M 2
Ri Rz
M 15
M 2
R R

1893

12



7 07 ( ) .doc

1)

()

() 1)
(@)

16
1 2cm
A
X
A
10
A X
A
5 A
10 82 A
10 ( cm)
1 2 3 5
X, 51.5 52.9 49.9 51.4 48.5
X, 37.3 38.6 35.7 41.3 37.1
Ax = | X, - X, 14.2 14.3 14.2 10.1 11.4
n 10 10 10 7 8
AX 2.84 2.86 2.84 2.89 2.85
A=—x2
n
2 A

13



7 07 ( ) .doc

82 82
[ _J [ _J (_J [ _J
[ J [ J [ _J
(klystron) (magnetron)
(traveling-wave tube) (Gunn diode)
15 W 2.85cm
18
10.525GHz
[1] WA-9316S ()
[2] 1992
[3] (1983 )

14

(light housetube)

10.525GHz



